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[£0LE] PAL-BX/ACID3
* Brix : 0.0 to 60.0%

[Z=] PAL-BX/ACID2
* Brix : 0.0 t060.0%
* Acid : 0,10 to 4.00% * Acid : 0.10 to 3.00%
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[Z12] PAL-BX/ACID1
* Brix : 0.0 10 60.0%
+ Acid : 0.10 to 4.00%

[HHLIL}] PAL-BX/ACIDE
* Brix : 0.0 to 60.0%

* Acid : 0.10 to 0.60%

PAL-BX/ACID F5 Kit
Brix / Acid / 2%
Brix : 0.0 to 60.0%
2= :10.0~40.0C
Acid : 01 (Z2) 0.10 ~ 4.00%
02 (Z£) 0.10 ~ 4.00%
03 (E0tE) 0.10 ~ 3.00%
04 (Z7]) 0.10 ~ 3.50% [AkZH] PAL-BX/ACIDS
* Brix : 0.0 1060.0%
« Acid : 0.10 o 4.00%

05 (22H2]) 0.10 ~ 0.60%

[&7]] PAL-BX/ACID4
* Brix : 0.0 to 60.0%
+ Acid : 0.10 to 350%

[6H] PAL-BXIACID 14
* Brix : 0,10 to 400%

* Acid : 0,10 to 1.00%

[X}E] PAL-BX|ACID 11
* Brix : 0,10 to 4,00%

* Acid : 010 to 1.00%

[T}2l0fZ] PAL-BX/ACID9

[E2H[2]] PAL-BX/ACID7 [7194] PAL-BX/ACID8

* Brix : 0.0 10 60.0% * Brix : 0.0 10 60.0% * Brix : 0.0 to 60.0%

* Acid : 0,10 to 4.00% * Acid : 0,10 fo 3.00% * Acid : 0,10 to 350%
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[27{E] PAL-BX/ACIDI6 [243] PAL-BX/ACID101 [4]%] PAL-BX/ACID181
* Brix : 0.0 to 60.0% * Brix 1 0.0 10 60.0% * Brix : 0.0 to 60,0%
* Acid : 010 to 3.00% * Acid : 0.10 to 20.00% + Acid : 050 to 12.0%

[22] PAL-BX/ACIDS1
* Brix : 0.0 to 60.0%
+ Acid : 0.10 10 0.30%

[®I2]] PAL-BX/ACID40
* Brix : 0.0 to 60.0%

* Acid : 0.10 1o 1.90%




